Engineering Mechanics - Statics: CE 203-01-023 

Homework 9 & 10
Key Solution
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6-7 Draw the shear and moment diagrams for the beapyy
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¢ Draw the shear and moment diagrams for the bea
Ttwo segments are joined together at B.
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;a ' 6-39 Draw the shear and moment diagrams for the bean
V dremt i B3 and determine the shear and moment as functions of x.
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6-43 A member having the dimensions shown is to be used
to resist an internal bending moment of M =2 kip - ft.
Determine the maximum stress in the member if the mo-
ment is applied (a) about the z axis, (b) about the y axis.
Sketch the stress distribution for each case.
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